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Part 5 (60 marks)

For each question from 1o 30, four. optlons are gwen One of them is the correct
answer. Make your choice (1, 2 3or4) Shade the correct oval (1,2, 3 or4) on
thie Optical Answer Sheet. : :

1.

Study the classification chart below.

Animals’

'

A
K I .
L - | | |
Has legs ' Does not have legs | | Has feathers || Does not have feathers
] ] R
Cockroach Earthworm - Penguin
Lays eggs ' Boes not lay eggs
. Lizard . Whale

Which of the following best represent A and B?

A B
Nt . 'Lays eggs - Gives birth
... Lives on land . Lives in water
3) |_Does not have a backbone Has a backbone
4| 3-stage life cycle 4-stage life cycle

{Goon 'to the next page)




2. Julie was given'3 samples of digested-food as shown below.

Petri dishes with partially digested Subistarice X..

- Sample P Sample Q- . SampleR

Which of the following were thé sarhples most likely to be taken from?

: P Q. : . R

1) mouth: stomach __small intestine
2) mouth small intestine . stomach - :
"3) . stomach- _mouth . | smallintestine
4) | largeintestine | smallintestine | = mouth .

3. Study the classification table below.

Circulatory System | Respiratory System-
Windpipe = ~ "Lungs. - .

_Heart - | .. _ Velns™ 5%

A ' 'Bload. . Nose

et

Which of the _foli_owin'g have been wrongly classified?

A Heart - C: lLungs
B: Veins D:- Windpipe

1) AandB | ' 3) BandC
2) AandD 4) BandD

A-2 ' {Go on to the next page)



Amy was very concemed over the haze situation that plagued Smgapore IR
recently. She decided to study the relationship between the number of hotspots
- {forest fires) i in Sumatra and the level of PSI (Pol!utant Standard Index), which is
a measure of concentration of pollutants in the air, in Singapore. The table and
graphs below show the number of hotspots and the PSI over 5 days.

, Days Number of. hotspots in Sumatra
1 10 '

ISR S TR
|Gy o|

PSI Reading in Singapore

PSI

"5

Deys

Based.on the information above, which of the following statement/s is/are likely
to be true?

A:

B:

1)
2)

Smoke particles from forest fires decreases as the number of hotspots
increases, .

As the number of hotspots decreases the PSireading generally
decreases too.

The increase in PSI readmg on: Day 5 was due to-an increase in the
number of hotspots.

The wind could have carried more smoke partrcles from the forest fires
in Sumatra on Day 5.

B only ~3) B.andConly
Aand C only _ 4) Band D only

A-3 (Go on {o the next page)




'8, Mehssa cut 4-preces of wrre A B C and D each of drfferent iength shd-
" thickness from the same matenal The circuit dtagram below shows how she
set up the experrment.

‘ She placed each of the wires, joining F fo'G and observed the bnghtness of
the bulb Then, she recorded her observatron in the table below. '

Wire | - Length (m)_ T_hrckne_ss (mm) ng_tness of the buib
| A 1 1. “Bright

. B 1 2 Very bright

G 2 1 - Not bright
D 2 2 Bright:

Based on the information in the table, Mehssa came up wrth the fo!lowmg
~ conclusions for each pair of wires.

: eres ' Conclusron L '
A B - | The thicker the wire is, the dlmmer the bulb is |
The shorter the wire is, the brighter the bulb is
The longer the wire is, the brighter the bulb is |
The thicker the wire is, the brighter the bulb is

e]lslfe=Th
wilwile!

N<xs

" Which of the following isfare correct?

1) 'Z.only 3) YandZonly
2) Wand Zonly 4) X, Yand Zonly

A-4 : (Go on fo the next page)



. Refer to the food web 'bélow and answer Q_(qééifbhs"'@ and7,

The food web.below shows the interaction amongorgamsms ina large’ pond.

- Figh S . > Snake-heédz

N

‘Waterplanit —— Tadpole

' .Di'agbnﬂy 'nymﬁﬁ
6. Wﬁich one of the following has the'smallest population size?
1) Fish .. 3)  Snakehead -
- 2) * Dragonfly.nymph 4) Waterplant - .

7. Adisease suddenly plagued the tadpole population and all of them died. Which
of the following graphis best show the population sizes of water plant, dragonfly

nymph and fish?
1) 3)
A _ 4
Population . Population.
size ) Water plant size
I\
N _ "I::ISh
N\ .
N\
\Dragonfly nymph
A -
Time
2) . 4)
A 1}
Poputation Fish Population
size e size © Waler plant
2 "'.__ '
Ne, olant [~ Bragonty nymeh
l \ "-,". B
\Dragonfly nymph . ’-.__.Flsh
Time - Time

A-5 (Goon to the next page)




8. Zed camied outan experiment with 2 springs, K and'll'._.‘-l-'l.e hung various lodds
on the 2 springs and measured fthei_r--corresponding--length31 He then recorded.

- the results and plotted the graphs as shown below."

o Length

of spring

(em) -

 Spring K

90

‘70-._‘

80 p——peempaead et T=—1==| Spring L |

40 L

e a2k T

0 10 20 30 40 50 60 70 a&@ S0 40p
Load (g)

Based on the graph above, which one of the following concilusions is true ébou’t
Springs K and L.? ‘

Spring L extended by 35cm when a load of 40g is hung on it.
Given the same load, Spring K stretched more than Spring L.
Whien a load of 60g is hung on Spring K, it stretched by-70cm.
The original length of Spring K is tonger than the original length of Spring L,

e

A-B - {Go on fo the next page)



9. Study the circuit diagram below,

/

If all the swifches are closed, which bulb/s, when fused, resultfs in only 3 bulbs

fighting up?
1)  Bonly 3) BandE only
2) AandDonly _ : 4) Cand D only

10. Study the diagram below. The gravity of the moon is less than the gravity of the
Earth. . -

On the Earth On the Moon

Which one of the following sta'temérits is true?

1} Ball A has more weight than Ball D.

2) Balls Aand C have the same mass. :

3) Ball A has more gravitational force acting on it than Ball B.

4) Balls B and D have the same gravitational force acting on them.

A-7 {Go on to the next page)




11. 'Berr_ta:‘c_l set up the experiment below involving 3 mégﬁets_.

12.

A B

C

repe]

‘repel .

He then predicted some reactions betieen some of the poles of the 3 magnéts

ifthey were brought close fo

gether and preserited his predictions in the table.

below.
Poles of magnets __Reaction .
-V ~AandD __Aftract.
W: Aand F -Attract
X BandE - - Aftract
Y: - CandE - Repél -
Z ~ DandF Repel.

Which of Bernard's predictions is/are correct?

1) X only

' 2) Wand Xonly :

Rosalie and her friends went to a.

Below are héer observations.

3) v, X and Y only
4) W, Xand Z only

garden to cbserve the animals and plants in it.

Organisms  Number observed
Snait 8
Butterfly L 12
Sparrow 4
| Sparrow chicks . 7
Caterpillar 15
Hibiscus plant 5
Snaileggs 10 -
Mangotrée . 2

How mariy populations are present in this community?

1) 5
2) 8

3) 31
4) 83

A-8 {Goonto the next page)



13. Study the food web below.

/ I Piént

TN

| |
N

S

» U

Based on the above fdod web,&irhich of the following-is correct?

. Herbivore ~ | . Carnivore | . Omnivore -
R Q U
R S - T
S T Q
S L F

14. Below are cross-sections of 2 similar coconuts that contains different amotnts
of coconut water.

Which of the following is correct?

1)
2)
3)

4)

®

A

Coconut water

(@

B

Coconut that travels
further from parent plant

Reason

[£is less buoyant because 'it contains little
water, -

It is more buoyarit because it contains a lot
of water. '

It is more buoyant because it contains
more air.

w|l» | »

It is more budyaht because it contains less

air,

A-0 . (Go on to the next page)




15. The followir_x_g, ﬂchh"arft"éﬁb\ks: the fraits of Mr and Mrs Ong’s 3 children, T hey
are represented by the letters V, W, X, o

 Start- |—{ Have double |

ayelids
T.Yes '
| Have oval -
' - face |
Yes
| Have attached | Ni
i - ‘earlobes .- |
l.‘-.’es '
Both Mr and Mrs Ong.have ddub’fe eyelids and attached earlobes. Howaver, Mr
Ong has a square face while Mrs Ong has an oval face.
Which of the following is definitely correct?
W X
1) | Inherited some of Father’s traits | Inherited all of Mother's {raits
2) Inherited none of Father’s traits | Inherited all of Mother's traits
3) Inherited some of Mother’s traits | Inherited all of Father's traits
4) Inherited none of Mother’s traits | Inherited all of Fathers traits

A -10 (Go on to the next page)



16. Below is the reproductive systéms of a flower and a human. - -
: o T ~Part S

Farisha made the folloWing‘statements-'aboutﬁbbth reproductive systems.

Pollination ocours in both systems.

Both have female reproductive parts..

Part S has the same function as Part T.. ‘
: The human womb has the same function as the ovule.

gowex

Which of Farisha's staterient/s do you agree with?

1)~ Bonly ~ 3) Barnd-Donly
2}  AandC only : - 4) Cand D only

17. Below s the life cycle of Organism J.

About5‘-—-6¢iay Egg \

Larva | Adult
About 915 dak — A‘OUM —~8days
- Pupa

Orgamsm J reproduces most quickly in cold climate — the young develops into
adults within the shortest time. Recently, some population of Organism J was
found in Smgapore ..

Which one of the following best represents the duration Organism J takes fo
develop from the larva to adult stage while in Singapore?

1) 9 3) 21
2) 13 4) 29

A-11 . {Go on o the next page)




© 18. Tinawanted to ﬁﬁdl out if the light is réi;iit-lirec_i_ for seed gérmfnéﬁﬁn. Shewas

given the followirig setup.

glass cover.

glass .

-~ seeds
container -

- Wet coﬁoh-:imiddl SR

" Which orié of the followin
=~ Tina to test out her aim?

e )

g set iips would be the appropriate @n?fﬁl_éef—'up; for

. . glass cover % . glass.cover.

glésé seeds metal seeds
container - o container
= Dry Dry
wool wool
2) metal cover 4) metal cover
e Sars : '
glass seeds metal - seeds
container - R container
Wet . ' - Wet
cofton cotfon
wool wool

A-12 - - {Go on to the next page)



- 20:

‘ 19. The table below shows the meltmg and boﬂmg point of 2 substances L and M.

Substance Meltmg Point. ("C) Bo:lmg Point (°C)
: L -53 250
M. : 19. 529 .
- Which of the fellowing shows the correct state of substances L and Mat 0°C
“and 400°C respectwe!y?
State of Substance L - State of Substance M
0°C. 1 400°%C 0°c | - 400’
1) Solid - Solid -Liguid ~ Liquid
2) Solid  Gas Liquid . |~ Gas
3) | . Liquid Gas -Solid . .. Liguid
4) . Liquid ~ Liquid Solid ©. Gas

Equal amounts of chilled mllk at 10°C is poured info thick metal and thick piastic
cups of the same size and shape They are placed on a dining table.

Which of 'the‘folldWing statements is true?

Water droplets appear on the meta! cup first.

Water droplets appear on both containers at the same time.
Heat from the milk-is conducted to the cup more quickly in the metal cup.

plastic cup

A-13.

" Heat from the surrounding is conducted to the cup more qwckly in the

" {Go-on to the next page)




21. Emﬂy was. glven 4 SImlla_r beakers L, M N and p. Each beaker was fillsd with

different substances.

o‘range jque

. peb_biee - sand

Peter poured water mto each beaker at the same rate, one ata trme He.
measured the tlme taken for the water in each beaker to overflow. -

A

Time taken 1. -

for water to
overfiow -

.2)
. A
Time taken

forwaterto

overflow

3)._'-’

Timrie taken

for water to |

overflow

Beakers

4)

Time taken
for water.to

" dverflow

" Beakers

A-14

A

Wh_lch one of the follew:ng graphs shows the time taken for water to overffow’?

F 3

Bezskers

i

-
=
=
o

Beakers

(Go on to the next page)
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22 The dlagram below shows a- ball and nng apparatus At room temperature the o

‘bali can pass through the ring.

" Which of the followmg is most Ilkely to happen if orie or both .of the items are
heated or cooled? : . ‘

_Scenarlo

,Result L

Only the bali Is heated.

Ball can pasé thrdugh the rmg;

Only the'ring is cooled.

Ball can pass through the ring. -

The ball is cooled and the ring is heated ' Ball can pass through the ring.

The ball is heated and the ring is cooled. | Ball can pass through the ring.

23. The diagram below shows a river flowing downstream towards the sea. A
‘ factory and-a farm are located near the river. -

Which are most suitable locations (A, B, Cor D) to build a home and a water

freatment plant?

Home Water Treatment Plant
1) A ' D - .
2) B C
3) C A
4) D B

A-15 ' "~ (Go on to the next page)




24. A metal spoon-and Wooden spaon were both placed on a block of ice as shown
below.. ... .. . S : .

Metal  Woisden.
spoon spoon

Which of the followirg are possible readings of the temperature of the metal and
wooden spoons after 3 minutes? ' '

1) Spo-dn_s Dmm 3 miﬁ
Metal ~ | 27°C | 27¢ |
tWoaden | - 27°¢ | 27°c ]

2) [SpoonsT OminT 3 min
Metal | 27°¢ 32¢c |
Wooden |  27°c 23°C

3) | Spoons - Omin | 3 min
- Metal | 27°C | 24°CG.
Wooden | .27°Cc | 20°C. |

4)  [Spoons | 0 min 3 min
{Metal | 27°C [ 18%c. |
Wooden | 27°c. | 24¢C |

A-1 6 (Go on to the next page)



25. Susie wants to make a dress for her upcoming graduation day, Shehas.” -
narrowed her choice to 3 materials, @, R and S. However, she'is concerned
about the transparency of the miaterials. '

She was able fo b'ér'row a light detector from her friend to help her in her
experiment. She then arranged the set-up below and fested her aim.

Material o
: Light detector - .

Light source - _ '
' j) ) Xem

* Susie tabulated her results in-the table bélow_.

IR

Yem:

Materials | Xem Yem | Thickness of material | Light detected
1 ' (em). .. - . {lux)
Q 20 .20 0.5 = - A5
R 15 20 ] 0.5 .- 10
S. 20 16- | 0.5 - _ 20

Based on the above results, Susie decided to use material R for her”qi"reés;-
However, her friend told her that she had made the wrong conclusion.

Which of the following are possible explanations for Susie’s wrong coriclusion?.
1) Susie had used a very strong light source.
2) Susie failed to change the thickness of the material.

3) The light detector failed to detect the same amount of light. : -
4) Susie had varied the distance between-the light source and the material.

A-17 | (Go on to the next page)




26. Peter pfaced a rectanguiar block in the mlddle of a basketbai! court He
measured the length of the shadow cast at different tlmes of the day, as well as,

drew thie direction:the: shadow was cast:

| "““‘ 7 Which of the following is chrebt"?__f R

1)

?2)

3)

4)

g Tfme :

: Direcfién of,'.sﬁa'c‘ibﬁcasl.tf.‘ -

Bam

11.30am

3pm

6.30pm

A-18
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27.

28.

The experiment below was set up te-examine the rate of photosynthesis. Jar 1
~ contained a fish and some pond weeds while Jar 2 contained only pond
~weeds. Both jars were set up.under similar conditions,

After afew dlayé,‘th'e pdr{d'wé'edé in Jar 1 were fol;ndio_ be healthier than the
pond weeds in Jar 2. '

Light ‘ ight-

ﬁs_h/' : 'pond/"'"

Which of the fqllowing statement/s eXplai'n(s) this result?

A:  The fish droppings increased the rate of photosynthesis.

B:. The fish in Jar 1 respired, releasing oxygen fo the pond weeds.

C: Thepond weeds in Jar 1 received more light than those inJar2.. .

D: The fishin Jar 1 respired, releasing carbon dioxide to the pond weeds.
1} Bonly 3). AandConly
2) Donly. 4) Band D only

Study the classification chart below.

Forms of energy

Fried rice- | ‘Wind Oven
Stretched rubber band ' Waterfall Fire
X . Falling apple ' Y

Which of the following can X and Y represent?

X Y
1) - Moving fan Hair dryer
2) Petrol Moving fan
3) Petrol Burning coal
4) Burning coal Petrol

A-19 ‘ (Go on to the next page)




29, A!Ien p!ayed w:th the toy wh:ch hrs e!der brother made as showrr below He
pushed, then held the toy car against the spnng, then he letitgo.

M spring. -

waill —} | {

ﬂOOrAsurfa'ce

7 Wh;ch one of the followingis the correct energy conversion of the toy car from
the time it was held against the wall fill it stopped mevmg‘?

1)  Kinetic energy > Kinefic energy > Potentral energy
2) Heat + Sound energy =2 Klnetlc energy > Potentiai energy
3) Kinetic energy > Potentlaf energy -9 Sound energy + Heat energy

4) .Potentral energy > Kmehc energy =2 Sound energy + Heat energy

\
TR g e
P A

A-20 ' ‘ {Go on to the next page)



30 Jody hung 3 metal balts 4, K and L,oneata tlme from a strlng and released '
each one from either position X or Y.

ceiling

‘metal ball

The table below shows the mass of each metal ba!l and the posmon from which
.each ball was released.

Metal Ball

Mass of metal ball (g)

Position released from

J 200 X
K 100 - Y
L 200 Y

Using a datalogger, she recorded the sound level when the metal balls hit the
" bellin the table befow.

Which of the following shows the likely sound level recorded for each metal
ball? (Sound is measured in decibels or db)

1)
2)
3)
4)

Metal Ball J (db) | Metal Ball K {db) | Metal Ball L (db)
100 100 150
150 100 150
250 100 150
250 150 100
End of Booklet A

A-21
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Answer all the following questions..

31. Samanfha was piesented with the fqlldwing table,

Anim'atsﬁ Moults- _ Has wiggs' ' 3-§tage life cycle |
Y K4 2 Y
Z v L -V
‘a) State the difference/s between Animal X and Animal Y. i1]

by Animal Y is an insect

' Draw its life cycle below. M1
c) Explain why it not possible. to place grasshopper for Animal Z. {11
3

B-1 {(Go on to the next page).




32, Alex conducted an experiment wrth 4 pleces of matenals and a d:sh fi I!ed thh
red colouring as shown below.

. The diagram below shows the amount of water absorbed by each stnp of
material after one minute, .

a) Besides the length of thie material stnps list.2 other variables that must be kept
constant to ensure a fair test. A

-y e R YL R 4
ST EI AR

b) Which material is. most swtable to make a k!tchen towel?
Explam your answer. : : 1]

. 2
B-2 .. (Go on ta the nextpage)




-33. a) Smgapore will be replacmg many roadside trées as they topple eas:ly

The dlagrams below show 2 plants With dlfferent types of roots

AH A
7!
A B
i) Which-type will be chosen to replace the existing trees?
Explain your answer. ‘ : [1]
ii) State another function of roots of trees. ' [1].
2

B-3 ' (Go on to the next page)




33 bji)‘ln the-diagram below,label the food - ﬁ@ihg,fubes.and Watéffcé'ﬁying_' -
 tubes. ' S R [1]

" i) On the trunk of fhe tree below, draw and labek'the direction of fodd and”
‘water transport in plants. o : M

2
-B-4 (Go on to the next page)




34, @) Study the diagram of thé human q'irc':tila_tbfy'system below.

Lungs | B -
S A
Heart |
Otheérbody | -
parts

Which arrow (A, B, G or D} shows the .blood' that _has the greatest amount of _
carbon dioxide? Explain your answer. - - [1]

b) Tick (v) Increase or Decrease’ to show what happens to the air we exhale

(breathe out) compared to the air-we inhale (breathe in). : [2]
"~ Exhale
increase | Decrease
| Water vapour o ~
Oxygen
Carbon dioxide -
Temperature

3

B-5 .- | (Go on fo the next pagej_




35 Steve extracted 2 cells A and B from Ammal M. He pfaced both ceﬂs into 2

petri dishes filled w:th L:qu:d S and water respectively HIS observattons are

shown below.

. Before

cellA | .

é)_ Give é"pos'sib.le explanati'ori for Steve’s obse_rvaiibn-.

After .

water

Liquid S

&

Liquid S

]

Cell|

A

Explangtion

b)  Which part of the cell is responsible for this observation? -

[1]

<) Inthe dlagram of the cell below, label the part which contains mformatlon that is
passeéd from parent to offspring.

[1]

34

(Go on to the next page}




36 Susan always had trouble cleaning the extetior side of her bédroom windows.:
" She then. came-up with a device as shown below to help her do just that.

 Quiside - Sponges inside
PartB - .E':::::f::
Handle
- Plastic holdler:
Magnéts Glass window pane
a) - What is/are the forces that are acting on the device at all t_s'rhes?" : [11

by When Susan starts moving the device across the window, another force écts on
- the window. Name this force. [1]

¢} Susan dipped the sponges in water. She tried to put the device on the windows
as shown in the above diagram but Part B feli off.
Explain why this happened. . : 2]

4

B-7 _ {Go on to the next page}




37. Below is a picture of a sazlboat that is headlng towards the shore at a speed of

c)

S 4y

1 Okmlh
shore
To speed up the boat which force, R or S, should be applied? - - {%].
To slow down the boat which ferce, R or S, should be applied? o [%]
If Forces R and S are equal and opposite in direction what will happen fo the _
sailboat if both are applied at the same time? [1}
Tick (v) the factors that will affect the speed of thesailboat. [1]
Colour of sail
Mass of boat
Shape of boat
. -3
B-8 {Go on to the next page)



. 38. Betty dld some research on Ammal W as. shown below She was mterested in -
how they survive in the desert She then presented some of the information
below

Fur on soles )

of feet Long, hind Iege

a) State whether the following features of Animal Wis a behavioural or structural
adaptation. _ N

Feature : . b ‘Ada,ptation.

i) ‘| Fur on soles of feet

ii} | Large ears

b) Animal W runs in a zigzag style using its lohg, hind legs. How do these
behavioural and structural adaptations help it escape from its predators?  [2]

¢) Animal W comes out only at'n'ight to look for food. Explain why. [1]

. 41
B-¢ (Go on'to the next page)




39. Ellen wanited 1o find ouf the effécts of varying amounis of toxic waste on aquafic
organisms In a fiver. She used 30 fish taken fror ariver imeach set-up-and
varied the amount of insecticide and conducted-an experiment. She tabulated

‘her resulfs in a table as shown below:

Set-up | - Amount of insecticide Number of
| perlitre of river water (4} | = fish.alive
A S0 T 30
B 5 . S 20 .
Cc ‘ 10 - 10

a) How does having 30 fish instead of 3 fish improve the accuracy and reliability of
~ -the experiment? : ' ) ~ _ [1]

b) Why is it not necessary to test 20g of insecticide-per litre-of water? - 13

¢) Plota line gréph to show the relationship be_meeh the amount of insecticide in
the water and the number of fish alive. Label the axes and specify any units
where possible. [1]

No. of fish alive -

...... A
N

Amount of insecﬁcidé' in water (g)

. 3
B-10 {Go onto the next page)




40. Catherine juét bought a wolind-up toy-car as sh:own'beicw.l She gave the toy ¢ar
* several tums on its key and noted down the distance it moved. She tabulated .

the results in the table below. . |

Number of turns givento | Distance moved by toy
foy car L .~ car{cm) o
2 ' -5 .
4 10
6 15
8 20

a) Wirite out the main energy conversion.in the toy car from the fime Catherine
winds the key to the time the toy car stopped moving. f11

b) When does the toy carhave the greatest potential energy? _ [1]

41. Katie is an'avid camper. Each time she goes on a camping frip, éhe always
.packs 2 sleeping bags, one is filled with feathers:while the other is not.

When the night gets very cold, Katie.sleéps in her sleeping. bag which is filled
with feathers. Explain her choice. 21

, -4
B-11 {Go on to the next page)




42, -Dennis c#érr‘iec_i_o@t the j-_e;xpeﬁmént as shown below. He placed differént numbers
of papers at position X. He noted the amount of water taken in by the_ plant for

. the different number of papers placed at position X. _
S e ' ' - Note;

L _ An insignificant -
LED light™ amount of heat is
PR . emitted by LED fight.
I s
R  table

The table below reflects the results from Dennis’ experiment. However, it is-.
‘missing some data. .

Number of papers ____Amount of water taken .in '_(ml)-
2 ] 8
” :
: 4
8 : 2
a)  Fill in the missing data in the above table. [1]
b)  Whatis a possible aim in Dennis’ experiment? ' [1]

¢} Explain why less water was taken.in by the plants as the number of papers
increased, []

. 3
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43. The mile fish fertilises the eggs while switming above the eggs as shown

below. . :
| /Ma!e fish

Explain how this method of fertilising the e’ggs' benefits the spécies of fish when
the female fish lays hundreds of eggs at a time? _ 2]

| | 2
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44. The dlagram shows a capped bottle withi'its end openina trough of water
- Water was ﬁﬂed o the bnm of the botle.

_H_\ Bottle cap

a) Draw the water level in the bottle and troughjéﬁerj the bottle cap is removed. [y

b} Explain your answer in part (a). (Do not use *pressure'fo explain.) | - [1]

End of Booklet B
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Answer
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EXAM PAPER 2013
SCHOOL. : SCGS . - ~
SUBJECT : PRIMARY 6 SCIENCE

TERM ¢ PRELIMINARY

0102 [ 03 [ 0405 | 06 [ Q7 ] G8 | G9 010|011 012 | G131 01| 015 [Qi6 [ 017

3 1.2 | 4 {4 1|3 |t [2 {4 1 ]j2]12]3 [3[1r]1]3

Q18 | 019 [ 020 [ Q21 [ 022 | 023 | 024 [ G25 ] 026 [ Q27 | 028 039 [ Q30
4

3 1 4 |31 11 4] 414 |2 3 |4 13

~31)a)Animal X does moult while Animal Y moults.

b) o -Egg\

Adult “ " Nymiph

C)A gr'as'snopper has wings-while Animal Z does not have wings, thus, they
have different characterlstlcs, so it is not poss:ble to place grasshopper for
AnimalZ.. '

32)a)The amount of mater:al submerged under water and the. thlckness of

each material.
b)Materlal A. A kitchen towel needs to be absorbent and Materlal Ais the

most absorbent out of the four material, thus; it i$ most suitable to make a
kitchen towel.

33)a)|)B B has more roots than A, hience, it has a firmer grlp on the ground and
there is a lower chance of it toppling. .
ii)Roots absorb water and mineral salts from the soﬂ for the plant

b)Water-carrying tubes. ///  Food-carrying tubes
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Answer Keys


34)a)D This blood has passed through the heart and over- parts of the body.
- . b)Increase . .

Decrease.
- Increase -

'In'crease

v35)a)A Cell membrane allowed water to enter the. ceII so, the cell swelled up
B: L|qU|d S has a lower concenttation of water than the inside of the cell
Acausmg water molecules to exit the all and cause it to shrank.
- 'b)The cell membrane.

.C)

36)a)Magnetic force and gravitational force.

‘b)Frictional’ force.

c)The sponges that have absorbed the water became. very heavy, i mcreasmg
the gravitational pull acting on the sponges, this gravitational is greater than
_ the magnetlc force present causing part B to fell off.

237)a)Force R
‘b)Force S.
€)The sailboat will still head towards the shore.
‘d)Mass of boat. Shape of boat.

38)a)i)Structural ~-if)Structural

b)Animal W has long hind legs (structural adaptatlon)to help |t run quickly
as it allows Animal W to propel itself really far COVermg a longer distance.
When running away from predators, It runsin a zigzag style-{behavioural
adaptation) to confuse its predator and make it harder toe be caught by |ts
' predator, thus, helping it escape:from its predators.

C)At night, the sun has set so the air is cooler, thus, it only comes out at
night to evade the heat.:Also at night many of its predator might be asleep, so
by doing so, it is increase the chances of its survival.

39)a)As using 3 fishes it too small a number to account for all the different
fishes reactions to pesticides in ‘the river while using 30 fishes ensures that the
result would he close to an actual situation.

b)When 15g of insecticide per.litre of water was tested all the fish already
died, so it is clear and obvious that if 20g of incectide per litre of water is
tested, all the fish will die, thus, it is not necessary to test such.
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" 39)c)No. of fish alive

3
30 F
EEh

Y

0 5 10 15
.40)a)Kinhetic energy->Elastic potential energy->kinetic energy->Sound + Heat
‘energy. |

~ Bb)The toy car had. the greatest elastic potential energy when 8 turns on-its
‘key given to it. . :

41)Air is an insulator of hieat and the presence of feathers tra ps air causing

there to be . many air spaces and thus traps heat from Katie's body keeping her
warnu, ‘

42)a)6 /| 6 . . .
. b)To test if the. amount of light réceived by the plant would affect the
plants.rate of photosynthesis by measuring the ah*iount.'of-_wat'er'absbrbgd by
- the plant. _ _
' €)As the-number of papers increased, more light was blocked, $o less light
was detected by the plant, so-,it photosynthesized at a slower rate, thus, it

absorbed and took in.less water.
K 43)_Itl-in(;l7eéses--t_he- chances of more eggs being fertilised at one time so more -
eggs will grow into adtilts and reproduce again, so, it ensure that the species. of
' ﬁshlvir_i_lfg__,__ggggggggme extinct and ensures their survival.

‘gayay -

i
:
v

- D)When the bottlé cap was removed, air from the atiiosphere rushes ifto

thie bottle and watet is forced but caiising wats
the levelin thebottle to drop fill water Teve eBottie equ;

the trough as the force of air samé i the Bottie and'in‘the trotigh.
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